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Mr. Schlansky Algebra II

Fractional Exponents Regents Practice
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For Multiple Choice, Use Multlple Choice Strategy!!!!!1™ amn l Fh " x-r
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1. Given y > 0, the expression J 3x‘ye ij.'a‘?x y“ is equivalent to
3.3 MYV 3 5
1) 81x’y :2 | Elo 3) 35::23»’3 Iﬁ\ NE ..
2) 315,2 | 4) 2 I &b
) Xy ) ?[/",, 032;;2‘}76 (gg\.,l\)\. "

T L4k
is equivalent to

- ”‘jr Pafta Vhesis aeond Fhe food
D -m* (” 3)—mE\/—‘) .45,4,\1« ¢ .
Ogr W.. “ER) 003

2. The expression

ls
W = [*]

3. Which equation is equivalent to £ = 210x§y§ i sl
D poifarorty 11059 - A r-210iifay | Q Sl0530.877
2) p:?ﬂxy%ﬁ) T8 .. . 4) P=210xy2(3:\)x3y5) Tl Tpobb. o

4. ]§or x 2 0, which equation is false‘7

(1) 3) 31 T T
(x)—*«f—l(ﬂ) =5b. W (x22=J_§ Sb.v
4) _
R S A T T
5. For x = 0, which expressions are equivalent to one divided by the sixth root of x? ‘f — G §..
0%, %aLM S \)X
N - x 7
L W 11 T I =
i
1) IandIl, only 3) IIand III, only
2) Iand III, only . g) L, II, and III

13



QMM)) ale 1 L’(L\tOM[ o)
Y id PalohesiS
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Determine the value of n in each of the following equations:
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18. Justify why is equivalent to x 12 y3 using properties of rational exponents, where
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